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206 M=H| 1,500 21,500
01 MZH| 1,500 21,500
O XZ& 228 AlA Mg 72
Zd 03 0 1,200 21,200
[ =2, S g8AF 8o s
34 02 0 300 2300
301 LEIEES 720 25,920 A25,200
11 #HAIAHIXIR S 720 25,920 N25,200
O =Y, St A ZAX Ad|24
328 03 0 1,200 21,200
00 2% =X MWDl Ws 2AE
34 03 0 24,000 ~24,000
307 @120l & 8,000 28,000
02 QIS EX 8,000 8,000
O AEEES EZSI =AM M
33 o0& 0 8,000 8,000
NS sSits2 82 7,300 9,500 A2,200
206 M=Hl 0 1,000 21,000
01 MZH| 0 1,000 21,000
0 =88 M=z 7 g3 0 0 1,000 21,000
301 LEIEEZ 0 1,200 21,200
11 SALAEIXIR S 0 1,200 A1,200
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